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Math 10/11 Honors Section 3.4 Sine Law and Cosine Law

e

Given each triangle, find the value of any missing side or angle “x™ and "y
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2. Inthe diagram, AC =2x, BC =2x+1 and ZACB =30°. If the area of aABC is 18, what is the value of “x"?
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3. Inthe diagram, points A and B are located on islands in a river full of rabid aquatic goats. Determine the distance

from A to B, to the nearest meter.
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4. In determining the height, MN, of a tower on an island, two points A and B, 100 meters apart, are chosen on the
same horizontal plane as “N”. If ZNAB =108°, ZABN =47°,and ZMBN =32°, determine the height of the

tower to the nearest meter.
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5. Intriangle ABC, ZABC =45°. Point “D" ison BC sothat 2+80) =CD and ZDAB=15°. Find ZACH.
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6. Inthe diagram, DC = DB, #DCB =15°, and Z4DB =130°, What is the measure of ~4DC?

z;

,"

(‘ © ¢ comztSY .
Ol F LSEUR TRW™T
@7 260 :\770—\@
= W/ .
M+ 2 P,

7. In the diagram, the circle has radius \.ﬁ and centre 0. Points D, B, and C are on the circle. If ZBOC =120° and
DC = DB +1, determine the length of DB.
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8. In aABC,BC =4, AB=x,AC =x+2,and cos(ZBAC)= ; * i . Determine all possible values of “x™.
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9. In aABC, BC=a, AC=b, AB=c,and a<%(b+c)_ Prove that ABA(‘<§(LABC+4ACB)
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10. Challenge: In the diagram, 2ZBAC = 3/ABC and “K” lies on BC such that - % Lie
ZKAC =24[(Alib ‘Suppose th‘;azt_h‘b(2 =a, M'cAﬁzc‘éKﬁz’d'@Td%BK =x Qox W Sopptamednq
a) Prove that d = - and x = &~ o e
a . b ao\ . a s a \o’\ - F @ us

> QR ¢ < - ';\ (& A 2 Q‘N\\L\m
oa'— ax :LL Aro = be o e g T\Q\N\ﬂ.‘\ﬁ
K=\ = ax <

= L
I —Q_ _ r<
~ —_—

b) Prove that (a* -4 )(a2 =B +AC) = BPC? e ot i cnneton

Euclid 2007 #10b Super Challenging! Requires Cosine Law

(b) In the diagram, AB = 10, BC = 14, AC = 16,
and M is the midpoint of BC. Various lines
can be drawn through M, cutting AB (possibly
extended) at P and AC (possibly extended)
at Q. Determine, with proof, the minimum
possible perimeter of AAPQ.
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